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2EE 100.0
JtimE 94.0
0101 ALIEET 100.8
0102 EEEET 89.8
0103 fBJIIET 89.7
0104 &5t 94.9
0105 Jt R &t 90.1
0106 #HlET 90.2
0107 /MME&T 87.2
0108 J&)II5t 88.8
0109 &5t 89.4
0110 =/@EEt 92.6
0111 ;7 RIRGET 90.6
0112 #EAET 90.5
0113 &AET 94.5
0114 EEHEET 88.5
0115 & & &t 91.7
0116 JEIAIET 92.8
0118 #EET 90.1
0119 &H/NHGET 94.3
0120 R=ET 90.8
0123 ALIRERET 94.1
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0201 %Rzt 84.9
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0204 &D&T 85.0
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0402 A&t 90.5
0403 1E55T 93.5
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0405 KjalJRET 88.9
0406 SEEEET 88.8
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0408 KULAET 87.8
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0810 &7 U5t 103.5
0811 E#KET 91.2
0812 FREREISET 101.1
AR 99.4
0901 F#B= 5t 100.2
0902 EEAET 103.8
0903 #HAET 98.3
0904 {855t 97.4
0905 B#5t 97.3
0906 E 5t 96.8
0907 KRGt 98.6
0908 KH/RET 97.4
0909 /viLiEt 100.7
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0912 EHET 96.5
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1001 mifB&Et 95.5
1002 &5t 101.4
1003 fR 45t 93.4
1004 FEAIEET 101.3
1005 KH&t 100.4
1006 EEMRET 99.3
1007 ;BHEt 97.0
1008 ZH = M Et 97.8
1009 BERIE 96.1
1010 )15t 97.4
SES 106.6
1101)11E&t 107.9
1102 Re&t 101.2
1103 K=&t 108.8
1104 )II#EET 105.6
1105 @0t 108.7
1106 FmREt 105.4
1107 #RREt 96.7
1108 & HEBET 104.1
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1207 XIREt 102.8
1208 A&t 107.6
1209 finfa &t 108.8
1210 pkHEt 106.0
1211 +EEmst 104.9
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1301 eREBET 114.7
1303 k&5t 111.3
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1312 ZH&t 114.2
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1320 fFHEt 109.6
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1403 FERET 107.4
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2008 &R ILET 96.4
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2011 fEAGT 97.4
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NO—T7 =7 RIIEER (%)
(56 E9 B30B X TH)

2EE 100.0
tiEE 94.0
0101 ALIEET 100.8
0102 EEEET 89.8
0103 fBJIIET 89.7
0104 &5t 94.9
0105 dt R &t 90.1
0106 #HlET 90.2
0107 /M85t 87.2
0108 J&)II5t 88.8
0109 &5t 89.4
0110 =/@EEt 92.6
0111 7 RIRGET 90.6
0112 #EAET 90.5
0113 &AMt 94.5
0114 EEHEET 88.5
0115 & & &t 91.7
0116 JEIAIET 92.8
0118 #EET 90.1
0119 &H/NHGET 94.3
0120 R=ET 90.8
0123 ALIRERET 94.1
0124 ALMRALET 96.0
0125 Fixat 93.2
LRSS 84.4
0201 %Rzt 84.9
0202 /\F &t 85.7
0203 BARTET 82.3
0204 &D&T 85.0
0205 EFlithEt 86.3
0206 L) IIRET 79.1
0208 =;R&T 85.9
0209 BHET 80.6
=F 87.2
0301 Z&fET 88.3
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0303 =&ET 83.6
0304 fL&&T 88.0
0305 —BI&T 88.5
0306 ZAGRET 86.4
0307 4t E&F 89.6
0308 AfrEET 87.0
0309 —F&f 83.0
0310 AZEET 83.3
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=8 97.0
0401 fiEEt 101.0
0402 A&t 90.5
0403 1855t 93.5
0404 #J115t 89.9
0405 KRR ET 88.9
0406 FAEET 88.8
0407 i85t 87.3
0408 SAl;BE 87.8
Rk 87.0
0501 FkEHET 89.6
0502 #ECET 87.8
0503 AfEEt 83.9
0504 A#hEt 86.3
0505 AFEET 87.2
0506 fEF 5T 83.8
0507 i&RET 83.2
0508 e fgst 83.7
1I};7 89.6
0601 LfiZEt 91.2
0602 X3R5t 89.9
0603 SEMET 88.8
0604 #8fA 5T 89.2
0605 #EET 87.7
0606 =T 86.1
0607 #f1LET 90.9
0608 ZE;AST 51 89.4
BE 93.4
0701 253t 89.6
0702 L\ Z 5t 94.6
0703 &= EEMET 87.3
0704 ERLLET 98.1
0705 H3]ET 90.0
0706 A& 1|5t 90.6
0708 —AHEt 91.3
0712 FHXET 97.8
I 101.1
0801 K=t 99.0
0802 Airst 98.7
0803 H A=t 97.9
0804 +@st 102.4
0805 &3] ET 108.3
0806 H#AEt 102.5
0808 A fAEt 98.1
0809 HEAEZET 93.9
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0810 &7 lFEt 103.5
0811 E#KET 91.2
0812 HREREISET 101.1
UGEN 99.4
0901 F#B =5t 100.2
0902 f& 85t 103.8
0903 #pARET 98.3
0904 (L2751 97.4
0905 B #]5t 97.3
0906 E 5t 96.8
0907 KAfkat 98.6
0908 KH/RET 97.4
0909 /viLiET 100.7
0911 HtET 97.3
0912 EHEET 96.5
5 98.6
1001 mifS&Et 95.5
1002 Bt 101.4
1003 fRAET 93.4
1004 F&hiEEt 101.3
1005 KH&Et 100.4
1006 EEMRET 99.3
1007 ;BHEt 97.0
1008 BtE = MET 97.8
1009 BERIE 96.1
1010 &)IIEt 97.4
BE 106.6
1101)I1E&t 107.9
1102 REA &t 101.2
1103 K=&t 108.8
1104 )II#ET 105.6
1105 JBA0&Et 108.7
1106 FrREt 105.4
1107 #RR &t 96.7
1108 & H#EBET 104.1
1109 17HEt 100.8
1110 Epo&Et 111.2
1111 #A&EEt 107.3
1112 aat 107.5
TE 106.2
1201 FE&t+ 107.4
1202 m)IIEt 109.4
1203 gk &t 99.3
1204 8B Lt 97.7
1205 RE2E 105.6
1206 &R &t 100.0
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(56 E9 B30EB X TH)

1207 XJR&T 102.8
1208 A&t 107.6
1209 fnts&t 108.8
1210 pHEt 106.0
1211 FEmET 104.9
RR 113.9
1301 srEEE 114.7
1303 k&5t 111.3
1304 a/llEt 114.9
1306 K#xat 1115
1307 *&&aEt 113.8
1308 #rfaat 116.6
1309 jthiat 114.4
1310 £¥&t 111.7
1311 B3z&t 111.3
1312 &HMH&t 114.2
1313 K&t 1111
1314 \NEFET 107.5
1315 37)II&t 108.4
1316 E#Bat 108.9
1317 =j&&t 114.7
1319 HTHET 109.1
1320 &t 109.6
e 109.6
1401 ®Est 111.3
1403 ARGt 108.2
1404 )1l i&5T 109.3
1405 7R HE 107.4
1406 “Fix&Et 106.5
1407 /NHIRE 104.2
1408 BERET 106.7
1409 HEERE 110.5
1410 EAGT 108.4
1411 #MMEEt 105.6
1412 #amat 107.4
1414 )1isAEEt 109.4
1415 #JcaEt 110.3
1416 K#&Et 108.4
R 94.8
1501 #rmat 97.3
1502 =&t 96.1
1503 LGt 94.2
1504 =&t 94.1
1505 falEEt 94.2
1506 #rFHEE 94.7
1507 #mEat 93.3
1508 + HHETE 89.1
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(56 E9 B30EB X TH)

1510 % f)llEt 94.6
1511 &3t 92.6
1512 A 92.7
1513 AT 88.0
1514 & E&t 88.0
=1L 97.2
1601 =Lt 98.2
1602 St 97.0
1604 fEEt 96.4
1605 #5REt 96.0
1606 sk B &t 94.4
1607 ;8)II5t 95.3
Al 97.5
1701 &R&t 98.8
1702 /st 96.4
1703 tE&t 94.1
1705 MNE &t 97.2
1708 ALt 98.9
1709 dm S &t 91.4
BH 97.8
1801 BH&t 97.9
1802 A 98.0
1803 AEFat 92.4
1804 =ZE&t 98.6
1805 &&=t 98.8
1806 /vt 97.5
i 99.3
1901 HRFH 98.9
1903 #& st 99.0
1904 FElFET 98.5
1905 #kREt 100.0
1907 2+ & HArat 100.8
& 97.9
2001 REPET 98.8
2002 #AAET 97.9
2004 Mzt 97.9
2005 BRHET 96.7
2006 fRHBET 99.2
2007 & / #3t 98.7
2008 &1L ET 97.0
2010 RBE®EGT 96.0
2011 fEAGT 96.5
2012 KHTET 97.1
2013 Ak st 95.9
2014 Fmanat 97.1




NO—T7 =7 RIIEiE (%)
(56 E9 B30EB X TH)

I & 100.6
2101 Ix B &f 101.0
2102 KIEET 100.1
2103 Zin Rt 101.2
2104 &1LET 101.0
2105 =HRET 98.9
2106 &t 98.5
2107 ERMXET 99.9
2109 H2) 115 98.7
EEdb 100.5
2201 ##RAET 100.0
2202 JEMNET 101.9
2203 jA;EET 102.1
2204 jEFIKET 100.7
2205 = &5t 101.0
2206 £HIIET 100.5
2207 L=t 98.1
2208 SHET 97.4
2209 £t 98.9
2210 B L&t 98.8
2211 THET 99.7
2212 BERET 98.8
R 105.2
2301 B HERET 106.4
2302 HHEHET 107.1
2303 & EmET 105.6
2304 2155t 106.3
2305 [ lFrET 104.1
2306 —= 5T 103.1
2307 #H&t 102.4
2308 P ET 101.9
2309 £HEt 102.5
2310 F55t 102.9
2311 X5t 103.8
2312 BEET 101.9
2313 R1LEt 101.9
2314 215t 101.4
2315 FripEt 97.1
2317 H B HET 103.2
=5 99.1
2401 MB™ET 101.5
2402 FEAET 99.6
2403 25t 96.0
2404 ABRET 97.0
2405 A5t 100.4
2406 FHEET 100.1




NO—T7 =7 RIIEiE (%)
(56 E9 B30EB X TH)

2408 EEE 94.8
2409 $nFRET 96.7
B 99.0
2501 KiEET 98.8
2502 KiEET 97.1
2503 ERET 97.4
2504 BT TET 98.5
2505 FEET 98.5
2506 B EET 99.9
AR 101.6
2601 FABFEpEET 101.0
2602 REBLSET 101.7
2603 R 25T 102.6
2604 FABHIET 104.4
2605 @AILET 100.8
2606 EEET 99.0
2607 & 15t 95.7
2608 FiA% 100.5
KBR 108.4
2701 RpREEET 108.8
2702 ¥BHET 109.4
2703 ABRFEET 110.4
2704 FAIfEEFET 106.2
2706 3% 115t 107.9
2707 #Est 109.1
2708 #at 106.6
2709 FHIHET 104.0
2710 jtbHET 104.4
2711 RKEEt 104.5
2712 Bzt 106.8
2713 MUAET 106.2
2714 RtEEFET 103.0
2715 ZRAET 107.0
2716 AN REFET 105.5
2718 PFIEET 105.5
& 102.1
2801 #F T 102.7
2802 #at 104.3
2803 fEIFET 106.7
2804 A= &t 106.0
2805 MEE&ET 102.4
2806 how) 15T 100.6
2807 FF}5T 103.4
2808 BAHET 102.1
2809 E w5t 97.9
2810 Ffpat 98.0




NO—T7 =7 RIIEiE (%)
(56 E9 B30EB X TH)

2811 MAET 96.8
2813 HHRET 100.5
2820 Fa#ET 100.7
2821 BEEFET 100.0
=R 102.3
2901 =RET 104.2
2902 K& HET 103.1
2903 14+ ET 98.8
2904 FEt 97.9
2905 AFIEBILET 99.5
AW 94.1
3001 FIFRLET 98.0
3002 #Hr=at 93.4
3003 HET 92.3
3004 #1355t 90.0
3005 & %aT 92.4
3006 BT 92.6
3007 AT 90.6
SEY 89.2
3101 &EXGET 88.9
3102 K F 5t 89.2
3103 B5: 89.5
BiR 87.8
3201 #TET 88.0
3202 EHET 86.8
3203 HEET 88.4
3204 #HET 88.4
3205 EFET 86.6
3206 £ R AHET 85.3
L 96.0
3301 [ LET 98.1
3302 ;E1LET 94.2
3303 BB P RET 94.8
3304 EBFET 93.2
3306 F&iET 94.8
3307 &ZET 92.2
3308 st 92.4
3311 P AFET 96.8
N 97.1
3401 J5 &5T 99.1
3402 |5 BPa%ET 97.0
3403 25t 94.7
3404 EiEzET 92.4
3405 f&LET 95.4




NO—T7 =7 RIIEiE (%)
(56 E9 B30EB X TH)

3406 =Bt 94.2
3407 ==t 93.3
3408 ATERET 95.9
3411 fFpEt 93.4
3414 KB HEt 98.1
3415 HHHE 95.1
M= 91.8
3501 WOt 92.3
3502 FEIEt 90.7
3503 FEpEt 91.2
3505 FHATET 92.1
3506 #k=t 91.1
3507 fE1LEt 90.7
3508 THEH 92.0
3509 EEE 93.8
3510 M5t 925
=y 91.3
3601 BB 92.0
3603 =#7st 89.9
3604 EEEt 89.0
3605 AR EH 89.7
3606 HE)IIEt 87.8
3607 "BPYET 90.2
/1| 95.6
3701 B#rEt 96.3
3702 hL&st 95.3
3703 $R =T 96.3
3704 #ESE 94.7
3705 * s E &t 93.6
3706 + st 90.6
ZIE 91.1
3801 #liEt 91.9
3802 4343 90.6
3803 J\IEEEt 85.6
3804 =M Bt 84.8
3805 B EET 89.2
3806 Fest 91.1
3807 MUEFHEt 95.0
3808 AMET 89.2
=40 89.2
3901 E40st 90.1
3902 7ElEEt 87.4
3903 U5+t 84.8
3904 =3 86.5
3905 L=t 86.5




NO—T7 =7 RIIEiE (%)
(56 E9 B30EB X TH)

& 95.2
4001 f&fh kst 96.7
4002 BRiRE 93.9
4003 K& HEt 89.1
4004 /\iEst 91.9
4005 AEEHE 92.3
4006 /At 93.8
4008 EAE 94.0
4009 H)I15t 91.3
4010 715t 89.3
4012 @M=t 98.8
4014 N\%& 5t 89.5
4015 BAAEt 88.2
4018 2t 93.3
4019 EREFEET 94.2
125 87.7
4101 85t 88.6
4102 st 81.6
4103 ZEEH 81.2
4104 75 B3t 85.6
4105 BiFEt 88.4
4106 B2 &=t 85.7
R I5 86.0
4201 El&Et 81.1
4202 fEHHRE 86.8
4203 5t 85.4
4204 KATET 85.0
4205 BEEt 81.7
4206 ST0Et 81.6
4207 HBET 82.9
4208 3 55t 81.9
BEAC 89.1
4301 FEAEt 91.0
4302 \ftEt 89.7
4303 FitbEt 87.6
4304 £t 87.0
4306 REEt 85.1
1307 HEE 816
4308 FHiEt 87.1
4309 FIEREH 86.0
4310 {25t 83.3
4 90.2
4401 K4 Et 91.6
4402 BIRFET 88.7
4403 FyEET 88.2




NA—7 =7 RlsiEiER (%)
(%f6F9 A30H X THEM)
4404 HHET 88.7
4406 11a5t 89.8
4407 FiEET 87.5
4408 S AFFEL 85.5
= 85.7
4501 =ZlEET 87.0
4502 ZERFET 85.0
4503 BrAEt 85.4
4504 #IET 85.7
4505 HEg&T 81.9
4506 S3@EtT 82.5
4507 /NIRET 82.6
EEIR 87.9
4601 'R S5t 88.3
4602 JIIANFT 87.3
4603 EEE&T 85.0
4604 E 5t 87.2
4605 pOtHEAET 85.6
4606 FERET 84.3
4608 KE&5T 85.4
4609 HKET 83.8
4611 5T 85.5
4612 5785 86.8
iacki 86.9
4701 ARFET 87.6
4702 HiBEt 86.3
4703 & &5 84.7
4704 =HET 85.6
4705 J\E L5t 85.7
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